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N-ZZ=F—Hf—H 35,849 77,202 (35,034) (194) 4,358 148,854 231,035
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KEF R - - - - - 12,061 12,061
BNz ZZ_ERAKRE - - - - - (1,792) (1,792)
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SRR EITRG 6,781 30,519 - - - - 37,300
RIERERITRG 3,200 6,080 - - - = 9,280
ROBITXM - (576) - - - - (576)
N NG |55 - - 11,450 232 - - 11,682
RZEE=F+-A=1+—H

R=ZZMF—-A—H 45,830 113,225 (23,584) 640 4,288 159,123 299,522
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ERERNRRRER - - - 622 - = 622
KEF R - - - - - 20,117 20,117
TR E F B 1 Rl AR B - - (1,463) - - - (1,463)
R-BEME+-A=1+-8 45830 113,225 (25,047) 1,262 4,288 179,240 318,798




